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Instructions : 1. Answer Question No. 9 and any five of the

Q. No. 1.

Q. No. 2.

remaining questions.

2. Q. No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

3. Answers should be written either in English or
Kannada completely.

Critically evaluate Competition Act, 2002.
2002 8 RpoFgy EOWE0IRY QWITIFYFIN WIF A

Discuss Sherman Anti-Trust Act, 1980.

1980 8 BROFRF SO,F. HRRER FACTONRY WA

Q. No. 3.

Q. No. 4.

Q. No. 5.

Discuss the salient features of Clayton Anti-trust Act, 1914.
19148 geu3a° TR DBRER To00TIOW 0Ny VFLRNTRY,
BBEN, :

Examine the agreements prohibited under Competition Act.
AGOFYE BOONTOHACHY, PWFORSIRORTD L.BOWRIRI),
woe%& '

Explain the provisions relating to establishment.and functions
of the Competition Commission of India.

YPOdeoD RTIF YT eo3Rena m‘gpm’a’a WBY FIODFNY Bo0TT
QOTRVOGNFR), DTBORD. \

Marks :

Marks :

Marks :

Marks :

Marks :

16

16

16

16

16
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Q. No. 6. Examine the duties and powers of Director-General. Marks : 1¢
BTES° wWSCSTRT ©RFT @B TSEWNYT), WWFA.
w P

Q. No. 7. Explain the procedure for imposition of penalty under the

Competition Act.

Marks : 15

RFYE wosabe, BoB DRRIT @3,000h, DES0R.
! ™

Q. No. 8. Write short notes on any two of the following :

Marks : 2x8=1g

39S cinymTite SomE opd eEe wiowo :

(@) Brahm Datta V/s Union of India.
YITT FToF T DT W, BT

(b) Federal Trade Commission. -
A0O0308 29,390 dodnen.

(c) Competition Fund.
x);qsar:’aj Q.

Q. No. 9. Solve any two of the following problems -
FNIBUY, cinagRtis adw A

*'Marks : 2x10=20

AR wrEos -

(@) Usha Sales Private Ltd. entered into an agreement with

the Varun dealer to stock and sale
Usha Sales Private Ltd., which re
points and other brands. Discuss th
to restrictive trade practice.

VT ﬂe@; %Eﬁew OB ey
WATT BRI, B¢ [TBODS Byt
SRRERWTS. B3 2WOT BRoss BRI
BB 9o abo@ﬁe;:% awoog%)mgd.
&B0BR BowoHT0 mﬂzsswsaq 33y

of only products of
gulated the selling
e issue with respect

ST ToB) DASEN)
SRoOR WTOT
BN mcmswmf:%
VWFOHI W, TT
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(b) é'o:ﬁpaolzi?lo% (ggﬁ:‘:%rllgglz of Indla issued a notice to the
JOU n of India about their proposed

merger. The assels of the merger companies in India
Is Rs. 1,000 crores, while their annual turnover is
1Rs. 2,000 crores. The merger companies of India also
want to merge with ‘A’ and ‘B’ Indian Companies located
in U.S.A., whose assels is $ 500 million and turnover is
$ 2,000 million. Can the CCI allow this merger ? Give
reasons.
X, Y 53083 Z 02000 gos8E monens @ty G0N w0te
eORFOIRN  DOIARWS  BLowN  YRUBE Rl
eﬁo&mr{ﬁd 5’@@&373@{ Qewdzss. Qwny ArInd 1,000
Few CRIOWNAW ToNR WodFs &m®0s @rg 2,000
Boetd TR, §eosnd, HOEIRAYLD 2030 T
B3 emcg;@'bn’%b, ©E0e0TRAR ‘A’ @02 ‘B’ wow ApeIal
QOFNTROOT  DOESHRYLD WODAIBE. VRNG AR
500 &0O0NT WIOTONYHT TN @, WHR0T WY 2,000
AblIlovernd m@damﬁ&&d. R03e0d WY 3036y T3
B RBHOIRY, WISV 7 TTLNII) 2R

(c) ‘X diedinanaccident. X’s wife claimed from the Insurance
Company, which inturn refused her claim, contending that
the driver had no driving licence at the time of accident.
X's wife contends that there is deficiency in service from
the Insurance Company. Decide.
X Q0w BBoID CTWFFRPTEY, o0 BRODVZ. BII
FOEI0I0 D BOTRONG, HF> TeTN GWF IQRITY.
B3 €8 e503F oY D) FOTROT WIVTR) LWOOTD BTN
BROOVT BTN WY 3robEy $8RoRET. K D
FoBI0I) YT NXO FOTICD AT RTINS DOTD
0 RPEITY. WRY TOTRY WHPTOTE 7 SEBPER




